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IBPS / BANK / LIC / SBI at 9:00 AM

RRBs — CRP RRB-XI1I {Ofhce Assistants) and CRP RRB-XI1 {OM{Ticers)

Preliminary Examination

Office Assistants and Officer Scale [ :
05.08.2023, 06.08.2023, 12.08.2023, 13.08.2023 and
19.08.2023,

Single Examination

Officers Scale 11 & 111 : 10.09.2023

Main Examination

Officer Scale I : 10.09.2023
Office Assistants : 16.09.2023

PSBs — CRP CLERK-XIII,

CRP PO/MT-XIII & CRP SPL-XIII

Clerks

Probationary Officers Specialist Officers

Preliminary 26.08.2023
Examination 27082023
02.09.2023

23.09.2023 30.12.2023
30.09.2023 31.12.2023
01.10.2023

Main 07.10.2023
Examination

05.11.2023 28.01.2024




Vandana Chhatri 14 hours ago

THANK YOU SIR FOR THE AMAZING SESSION 4,
Hw.Ans.= G = GREEN

C =BLACK

F=BLUE.

Read more

[ﬁ @] Reply

Surbhi Sinha 6 hours ago
Thank you sir = for this brilliant session = ¢ green c black f blue b yellow e red h white a violet d pink =

[@ ‘7—)] Reply
CF»  Vishiu Giipta 16 hours ago
HW: Ans-1 31-March 5K
12-C
31-May 3D

12-F..



Neetu Maurya 10 hours ago

G green

C black

F blue

B violet/yellow..

Read more
05 GF Reply

Abhishek Singh 10 hours ago

1st Ans
G GREEN
C BLACK
F BLUE..

Read more

Eﬁ gﬂ Reply

harsh sharma 17 hours ago

Homework answer is
31- March 5-K

12-C
31-may. 3-D..

Suneeta® ¥ 17 hours ago

[6 gﬂ Reply

Muskan Rai 10 hours ago

G=GREEN

C=BLACK

F=BLUE

B= VOILET/YELLOW..

Read more

[@ gﬂ Reply

Usha Singh 17 hours ago

Ans 2 March 5k 12-c may 5f 12-d sept 5] 12-e

[& gﬂ Reply



. ) anshika 14 hours ago

%‘ March 5-k. 12-C. may 5-F. 12-D. September. 5-J 12-E
Ans= G green. C black. F blue. B violent/yellow. E red. H white. A violent/ yellow. D pink.

I:Iﬁ ;D Reply

j Singh Himanshu 11 hours ago (edited)

G - Green

C- black

F - blue
B-violet/yellow .

Read more
05 GH  Reply

Sima Sharma 14 hours ago

First Puzzle Answer -
G - Green, C - Black, F - Blue, B - Violet/Yellow, E - Red, H - White, A - Yellow/ Violet, D - Pink.

Second Puzzle answer -
Read more

Eﬁ gﬂ Reply

Usha Singh 17 hours ago
Hw ans-1 g green c black f blue b yellow e red h white a violet d pink

Eﬁ gﬂ Reply




at 9:00 AM

harsh sharma 17 hours ago
G- green

C - black

F-blue

B- violet/yellow .

Read more

Iﬂ_.l' H_/D Reply

Aalap 6 hours ago

Helpful session Thank You sir .,

HW ANSWER:
(Answer 1):.
Read more

75 51_/|:| Reply




IBPS / BANK / LIC / SBI at 9:00 AM

Six persons (C, D, E, F, J, K) were born &8 &bl (C, D, E, F, J, K) &1 71 &l

on two different dates 5, 12 of three ITTT-3TAT ARI@T 5, 12 3l A1 STeT-3TeA
different months viz. March, May and nﬁﬁﬁgm Tl Iﬂ?f, Ilé IR Tder) shad Uch
September. Only one person was born on =<k ST SIFH T shl Teh dRIG gAT AT J
one date of a month. J was born onthe 5 hTSH 3( ﬁﬁmﬁqﬁﬁﬁsaﬁ'@ﬁgm
th of a month having 30 days. Not more 9| F 37X E & < &1 § 37k SATRAT hl ST7H

than two persons were born between F - 7€l §317 91| C 1 SI+H SH-HE&AT ATcA! TG !
and E. C was born on an even-numbered =~ 3T T, AfhT K % gicl 6l J AR C H &=
date but immediately after K. Only two kol af I <h ﬁﬂTf{;’Q | D & 579 E ¥ U8
persons were born between J and C. D AT Tl K o 5771 F § 9 <ifoh D o §1¢ gl
was born before E. K was born before F g3 9T | F % &1 hH ° HH [ A AT STH
but not after D. At least two people were g7

born after F



IBPS / BANK / LIC / SBI

Six persons (C, D, E, F, J, K) were born
on two different dates 5, 12 of three
different months viz. March, May and
September. Only one person was born on
one date of a month. J was born on the 5
th of a month having 30 days. Not more
than two persons were born between F
and E. C was born on an even-numbered
date but immediately after K. Only two
persons were born between J and C. D
was born on one of the months before E.
K was born before F but not after D. At

least two people were born after F

at 9:00 AM



Alphabetical Series

Chinese Coding — Decoding
Inequality

Blood Relation

Syllogism

Coded Distance & Direction

Linear based Sitting Arrangement ( Uncertain )
Floor with flat Based Puzzle

Linear based Sitting Arrangement ( Parallel Row )

Machine input



D
he7rZw@u&qS41I$Sn19JPOKSVOM3D %

Which of the following is the ninth to the left of the seventh element

from the right end of the above arrangement?
71 & | Sh19-97 3T SATEAT H T BR | 1A qedl o A1 At g2
(1)1 (2) w )3 4)© 3)9




he7rZw@u& qS4I1$Sn19JPOKSVOM3D %

If all the numbers are dropped from the above arrangement then

which of the following is thirteenth from the right end?
I IUTh STTEAT U THT TEITIN <kl geT {21 I a1 4 § | Shia-at e
¥ AT N2

Vv (2)u  @3)n 4) & ) q



he7rZw@u& qS4I1$Sn19JPOKSVOM3D %

How many such letters are there in the above arrangement each of which
is immediately preceded by a consonant and immediately followed by a

number?
IUXIR STEET § U R 278 & R © ek o q{d Ugel U SawiT 3R
T TG Teh HEAT 82
(1) None (2) One 3) Two (4) Three (5) Four
il



D
he7rZw@u& qS4I1$Sn19JPOKSVOM3D %

What should come next in the following series based on the above
arrangement?

IUNITh SITEYT o HATEIR W AR HEEAT H STTEAT Ug FIT AT ATE0?

Z@, @q4, 4n9, (?)

(1) 905 2)q91  (3)9%J  4)9%5  (5) 90k



he7rZw@u& qS4I1$Sn19JPOKSVOM3D %

How many such numbers are there in the above arrangement each of

which is immediately preceded by a symbol but not immediately followed

by a consonant?

IURITH SATEAT H T fohat H&aT &, RAH | Tieh o q%d Ugel Th
el %, SrFRRT i AT Uek e T
(1) One (2) Two (3) Three (4) None (5) Five




Statement- B=F>E>J > Q

Conclusion - (I) Q=B
D F>Q

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or Il is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.

at 9:00 AM




Statement- H<K>N<M-=C
Conclusion - (I) C> N
dDH>M

(1) If only conclusion I is true.
(2) If only conclusion II is true.
(3) If either conclusion I or Il is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.

at 9:00 AM




IBPS / BANK / LIC / SBI

Statement- P> Q>S<T>L
Conclusion - (I) P> LL
dDT>P

(1) If only conclusion I is true.
(2) If only conclusion II is true.
(3) If either conclusion I or Il is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.

at 9:00 AM




Statement-Z = W > X <Y <K

Conclusion - (I) Z > X
) K>X

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or Il is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.

at 9:00 AM




Statement- F<S<B=Y>7Z

Conclusion-(I) Y > F
dDY=F

(1) If only conclusion I is true.
(2) If only conclusion II is true.
(3) If either conclusion I or Il is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.

at 9:00 AM




In a Certain code BALL is written as § , CANE is written as

48 than find the code for YELL ?
U FfSa Re ¥ BALL st hiE 8 ferat mar e, CANE &7
w1 48 TraT T @t YELL T RIS &IT 81TT 2

(1) 125 B ALL | cAawe @[ L L
S
xg) = & ~—
G Y i en | sxe

(4) 61 J

(5) None of these



IBPS / BANK / LIC / SBI at 9:00 AM

In a Certain code WATSON is written as a8 , than find the
code for PONTIN ? PCI 1637J

Ueh Higa g § WATSON w1 e @SSl = g, ar
PONTIN <1 <hi€ T BT 2

Y
\ b
(1) 302436 WA TSON P@% i
(2) 543293 33 | 11 1s 1M [ _/A
(3) 534293 Lg/‘/\ |y 2y 30

CYPRYARY) 39 (¢ 7 —

% of these

L,f

—




IBPS / BANK / LIC / SBI at 9:00 AM

‘ECONOMICS IS NOT MONEY’ is called ‘15A, 14V, 23U, 19U’
‘CAN BANKING FOR WORD’ is called ‘5F, 22T, 25P, 261’
‘MAKE CLEAR NOT CENTRE?’ is called ‘15G, 25T, 25G, 14V’
‘OK FEW TARGETS IN’ is called ‘19P, 8U, 13M, 22Y’

e, D&

|
What is the code of money?/Money aﬁraﬁ-s'am%‘?




IBPS / BANK / LIC / SBI

Statements :
A few figures are images.

0% snaps are images.

Conclusions :
I. Some figures are not snaps.

I1. All images being snaps is a
possibility.

<h .

%o R A= 2
0% &9 A 2|

[EL=0F

at 9:00 AM

EEARUIES LK FR]

afl AT &k &

q 2 hl THTEAT 2



IBPS / BANK / LIC / SBI

Statements :
A few figures are images.

0% snaps are images.

Conclusions :
I. Some figures are not snaps. /

I1. All images being snaps is a possibility.

at 9:00 AM

o N/
(<)
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at 9:00 AM

Statements : EXOGE
Only fantastic are fans. WWW%I
No fans are fabulous. aﬁé‘ I T h IMHER H‘gﬂ‘ %I

Conclusions : Ry

I. No fantastic being fabulous is 2 {3} TR & ISR B chl THTEAT

possibility. =|%°r %l

I1. Some fabulous are fantastic.




IBPS / BANK / LIC / SBI

Statements :
Only fantastic are fans.

No fans are fabulous.

Conclusions :

I. No fantastic being fabulou:y
possibility.
I1. Some fabulous are fantastic. OL

at 9:00 AM




IBPS / BANK / LIC / SBI

Statements :
All toys are tasks.

No task is a tree.

Conclusions :
I. No tree is a task.

I1. A few tasks are toys.

<h -
Tt T T B
IS ek 21 A1 2

e
IS &Y TTEeh T B
HS TEh A 3

at 9:00 AM




IBPS / BANK / LIC / SBI

Statements :
All toys are tasks.

No task is a tree.

Conclusions :
I. No tree is a task. -
II. A few tasks are toys. /

at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM

Statements :
A few wheels are warm.

Only wheels are wools.

Conclusions :
I. Some wheels are wools.

I1. All wools are warm.

<h 2
B UeT TH .
I UfeU AT B

fee:
FS R IA ol
T+t I T )




IBPS / BANK / LIC / SBI

Statements :
A few wheels are warm.

Only wheels are wools.

Conclusions :

I. Some wheels are WOOIS/

I1. All wools are warm.

at 9:00 AM

whatl



at 9:00 AM
Q. How isu( related to QP @
I. S<Y=D>Z<K=W>X, F>Q<X. = .

I1. G>T>V=H=W>0>P=Q.
K = W s x> Q

e )
7. K, Q U =¥ Gaferd g2
. S<Y=D>Z<K=W>X, F>Q<X|
II. G>T>V=H=W>0>P=0Q). <




Q. How is K related to Q?

I. S<Y=D>Z<K=W>X, F>Q<X.
I1. G>T>V=H=W>0>P=(Q).



4 18 < 7 ) > ) Ko g )3
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RS Ae\RIL 76 13
(quo —16) Al\ E Bz E C 18+ -/3)
I G H _—
¢
(1t¢) ‘Al f




IBPS / BANK / LIC / SBI

at 9:00 AM

Seven persons, A, B, C,D,E,Fand G gra&af, A, B, C, D, E, F 3IX G
go to movies on different days of the IR & YIaR a9 THIE & STeT-3TeA
week starting from Monday to Sunday 1 o Rt & 5 & SfeT s T8 7

but not necessarily in the same order.
One person goes between G and C, A

goes before C. G goes on Friday. D

3HT ShH | il G 37T C o S Teh oA <h
ST 8, A, C € 98t ST 21 G Y[shaR

goes on the second day of the week. SIGIEIRD) W%@%W% LI
Three persons go-between D and F. B a’Tf%E-D 3:ﬁ'( F gh CIE) v||<\'| %I B H\"HEITI??IT

does not go on Monday or Thursday. TR <hl T-I%(TGHHT%I C &+ SIE ST o||Qf1

The number of persons who goes after sgfpey

C 1s equal to the number of persons go

&1 G 9 98] S 9T

before G.

TRl

B3
$

T & SeT 2
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Seven persons, A, B, C, D, E, F and G

go to movies on different days of the |

at 9:00 AM

: B A Mo
week starting from Monday to Sunday -
but not necessarily in the same order. 4

Wig &\

One person goes between G and C, A

goes before C. G goes on Friday. D B3 —~ Ty

goes on the second day of the week. Fo
Three persons go-between D and F. B St

—

A
=
c
=
O

l/—

A

does not go on Monday or Thursday. o

The number of persons who goes after

C 1s equal to the number of persons go
before G.

B



IBPS / BANK / LIC / SBI at 9:00 AM

A certain number of persons are sitting in the row. All of them are facing towards
north. I sits seventh from the left of V. C sits to the left of A. Only three persons
sit between G and A. L sits fourth to the right of K. I sits one of the place between
E and K. A sits fourth to the left of 1. K is seventh from the right end of the row.
Nine persons sit between G and K. There are nine places between C and E. A is

eight from the left end. G and I is not neighbor.

Ueh e wtean 4 safw Ui § 98 5l A ufi ST IR A RRU U [ VR ami &
HTAS TAT W AST | C,A o 13 AR 2| halel di tth G AR A% ST T dS &1 L, K
o 2T 3T AT 3T 21 I, E 3R K o s § gl Ueh TUTT U Tk S3dT 21 Al 6 18
TR =T 2 Uk & M0 BR A K A1ad 21 71 s G 3R K & s § S3q 81 9t safw
CAREF AT T I3 2 | Ulth o 910 BR T A ATSAT 21 GITR [ USTET T8 2



IBPS / BANK / LIC / SBI at 9:00 AM

A certain number of persons are sitting in the row. All of them are facing towards
north. I sits seventh from the left of V. C sits to the left of A. Only three persons sit
between G and A. L sits fourth to the right of K. I sits one of the place between E
and K. A sits fourth to the left of I. K is seventh from the right end of the row. Nine

persons sit between G and K. There are nine places between C and E. A is eight

from the left end. G and 1 is not neighbor.

cil¢ 11l A1 TETIK Hll_\/y \

P —

Ny S S S |

—




IBPS / BANK / LIC / SBI at 9:00 AM

Eight boxes G, H, F, E, D, C, B and A are
arrange in top to bottom. Each box have
different colour Red, Yellow, Green, Pink,
Violet, White, Black and Blue, but not
necessary in the same order. Only one box
kept between G and F. Both Violet and Yellow
box kept below to C. Only two box kept
between E and Black. The colour of box B is
not Black. The colour of box G is Green and
the colour of box D is Pink. Only four box
kept between G and H. The colour of box F is
Blue. As many boxes between H and B as
between H and D. B kept at one of the position
above to D. A kept immediately below to
White. Only two box kept between Violet and
Yellow. G lives above H.

AR G, H, F, E,D, C, B3R AIWRY A=
ARRAT F| Teeh ST H HETT-3TT T AT,
T, B, AT, AT, e, ShRTeT SR e E,
AR Ueh 1 hH | TA9Ah T21 2l G AR F o =
HAeT Ueh AT TET TET 2| ST SR Oied T1 o6 ST
ST C oh 71 T U €| E 3T ShTeA T o o=
haleT &1 AT T TTU | {SsaT B T T hieAT 781 gl
fSeaT G T U1 0 ] SR feean D 1 {1 et 81 G
3R H o Sl shdlel IR Sadl W@ U 2 Tgaat F ot
T AT 2 H 3R B h S 3aq g fesa 8 ™ H
3R D o ST &l B &1 D o HUX {chell Ueh €T W
TET 74T 21 A hl TS o gieh A<l T[T 74T 281 ST
IARTA TR AT hTA S RsA W@ MR G, HH

3T LT 2




IBPS / BANK / LIC / SBI

at 9:00 AN,

Eight boxes G, H, F, E, D, C, B and A are

arrange in top to bottom. Each box have

different colour Red, Yellow, Green, Pink,

Violet, White, Black and Blue, but not

necessary in the same order. Only one box kept

between G and F. Both Violet and Yellow box
kept below to C. Only two box kept between E

and Black. The colour of box B is not Black.

The colour of box G is Green and the colour of

box D is Pink. Only four box kept between G

and H. The colour of box F is Blue. As many
boxes between H and B as between H and D. B
kept at one of the position above to D. A kept
immediately below to White. Only two box

kept between Violet and Yellow. G lives above
H.

BN ~1 4 Greear
2. |G\ Gram | C B Jack
no| \ - Blus
1| F \ B(ug B \oiet/ el
S \ = Ro X
¢ 1B \ H [Aile
7 | n \ A Yeliss/yede
g | D pink. | D Prnks
c ’ 8 —e Black
volld‘ = ’\ - (rrusm
B lac N
Yellows —m ol




IBPS / BANK / LIC / SBI at 9:00 AM

Eight people are sitting in two parallel rows containing four people in each row, in such a
way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are
seated (but not necessarily in the same order) and all of them are facing North. In row-2
E, F, G and H are seated (but not necessarily in the same order) and all of them are
facing South. Therefore, in the given seating arrangement each member seated in a row
faces another member of the other row. D faces the person who sits 2nd to the left of E. G
doesn't face A who is an immediate neighbour of D. There is one person sits between G
and H. B sits to the immediate right of the person who faces E.

313 Tk &1 GHHIAT Uikl H Tcdeh Uitk H IR AN shl 39 JohR oS & foh 3716 Il o o=
HA g 81 Ufth-1 4 A, B, C 3D o3 € (cifeh SRl T foh 3T 56w H =) ST 37 &l o6l 7@ 3T
I AR UfF-2 HE, F, G 3T H oS & (e Sl 7 Toh T 360 H 1) 3T I &l 1 7@ gfaqor
ol AR &) AT, & 178 SIS hl sHae1 H Uk Ufth § oIS Tedsh Fe& ol 4@ guidt vfh o ferelt 31
HEE ol SN 2| D ol T I Afch ol SN 2 ST E o ST 8 GO T TSST 81 G 1 H@ A % 3T
T81 8, ST D o1 (Hohedd U2l 21 G 3T H o A& Ueh i<h 937 81 B 39 Af<h o 3ich & 93l &

kT 7@ E I 3R 2 @




IBPS / BAN:X / LIC / SBI DW= at 9:00 AM

Eight people are sitting in two parallel rows containing four people in each row, in such a
way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are
seated (but not necessarily in the same order) and all of them are facing North. In row-2
E, F, G and H are seated (but not necessarily in the same order) and all of them are
facing South. Therefore, in the given seating arrangement each member seated in a row
faces another member of the other row. D faces the person who sits 2nd to the left of E. G
doesn't face A who is an immediate neighbour of D. There is one person sits between G
and H. B sits to the immediate right of the person who faces E.

Gz
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